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Q.1 'A9 e/ 9o | 33T fUehIde SR IT hredteridie 'SR’ a1 e AT 2ree sftear.

Ans X 1.%d
X 2. feRaes
X 33
w4 SR
Question Type : MCQ
Question ID : 630680330399
Option 11D : 6306801285266
Option 2 ID : 6306801285268
Option 3 1D : 6306801285265
Option 4 1D : 6306801285267
Status : Answered
Chosen Option : 4
Marks : 2
Q.2 Wreilel AT AT SHiza.
UTATaT=IST
Ans o 1. g A
25 2. TGN I
X 3. Sgde am
X 4. Sregdie 99
Question Type : MCQ
Question ID : 630680330405
Option 11D : 6306801285289
Option 2 ID : 6306801285290
Option 31D : 6306801285291
Option 4 1D : 6306801285292
Status : Answered
Chosen Option : 1
Marks : 2

Q.3 @refier wgoftam gty aref sites@r

ST HISHET SR

Ans

X 1. ST IAA SIS ShefdTaR ATt 3.

o 2. Gehcanres! UTSIRIT Hed 2Wtet Ateire 3d. ¥R Henerearded! gq=aTd YIS gyl il

qred.

X 3. PRichA IhodTaR ST 0,

X 4. 39 R Aeft, Tor @ sraauft ARt S

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330406
6306801285296
6306801285295
6306801285293
6306801285294
Answered

2

2




Q.4 'R @ eHeh Y wivft e
Ans o 1. 3G IR

X 2. g3

X 3. faam e

X 4. RUGAR felama

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330416
6306801285336
6306801285334
6306801285335
6306801285333
Answered

1

2

Q.5 @i arerTdie v e,

Ans X 1. QRTOT et

X 2. ol g
Wi 3. FHIOA HHON TR
X 4. 7 ol

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680330398
6306801285262
6306801285261
6306801285264
6306801285263
Answered

3

2

Q.6 @reileT AreeT=T 31 i,

IURTh

Ans X 1.9
X 2. guEd
& 3. 90
X 4 @

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330396
6306801285256
6306801285254
6306801285253
6306801285255
Answered

3

2




Q.7 'uifiRr & FEeR) st e
Ans o 1. Oy arda
X 2.1 9. 3R

< 3. fRuarstt grda
X 4. o 24
Question Type : MCQ
Question ID : 630680330414
Option 11D : 6306801285328
Option 2 ID : 6306801285326
Option 3 1D : 6306801285327
Option 4 ID : 6306801285325
Status : Answered
Chosen Option : 2
Marks : 0
Q.8 ‘dieusxfi ysul'ar areREREn gl o1 siiwar.
Ans X 1. dieERd a9 ATER g,
o 2. farxarerea fEenroft wed gior.
X 3. e R g,
X 4. aredt a9 Sieror
Question Type : MCQ
Question ID : 630680330408
Option 11D : 6306801285304
Option 2 1D : 6306801285303
Option 31D : 6306801285301
Option 4 1D : 6306801285302
Status : Answered
Chosen Option : 2
Marks : 2
Q.9 WTeiieT AT T 31 3iiesar.
qar¢
Ans X 1.9ag
X 2. ggar
X 3. ufqare
W 4. da
Question Type : MCQ
Question ID : 630680330413
Option 11D : 6306801285324
Option 2 ID : 6306801285323
Option 31D : 6306801285321
Option 4 ID : 6306801285322
Status : Answered
Chosen Option : 4
Marks : 2




Q.10 @refiet aTeTdie TahT S
BFAA FTgeA I Fgae.
Ans X 1. QRTOT RO
W 2. 9T TRIT
X 3. ot manr
X 4. guToe eroft g

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680330397
6306801285260
6306801285257
6306801285259
6306801285258
Answered

2

2

Q.11 'fides Iu2 uSul a1 A=TATT TrerTd STANT AT Wieflerdeh! gy faen= i,

Ans X 1. IRIGET dled AR fUde I9S uSe.
w# 2. STIGEIUN or=a1 Higarard fasm faw fRiereor=ar figrerM fdes Ius arsa.
X 3. JUH ShATR STeiedT g STaedT a1 U 9 fUde 398 ured.
X 4. IRAM fasgave Sig fae 39 uree.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330409
6306801285305
6306801285306
6306801285308
6306801285307
Answered

2

2

Q.12 ETefier AETHT TA ST,
TSI
Ans X 1. Sgete gug
W 2. SreudionTd gH g
75 3. IR gAY
X 4. gmEs

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330404
6306801285287
6306801285285
6306801285286
6306801285288
Answered

2

2




Q.13 TEreiie reern farseareff 2reg eftear.

STETET
Ans X 1.3TaR

o 2. SR
/X 3. 3mem
< 4.3
Question Type : MCQ
Question ID : 630680330403
Option 11D : 6306801285284
Option 2 ID : 6306801285283
Option 31D : 6306801285282
Option 4 ID : 6306801285281
Status : Answered
Chosen Option : 2
Marks : 2
Q.14 @refie rear=n avg 3ref eftesr.
gk
Ans X 1.T&X
X 2.yarg
X 3.ya
f 4. 919
Question Type : MCQ
Question ID : 630680330412
Option 11D : 6306801285318
Option 2 ID : 6306801285319
Option 31D : 6306801285317
Option 4 1D : 6306801285320
Status : Answered
Chosen Option : 4
Marks : 2
Q.15 @Il JTeRTaT YR SHiear.
T hell R AWK GIEER giset..
Ans X 1. §geEr
X 2. hacrara
X 3. smameffare
o 4. Gehareffare
Question Type : MCQ
Question ID : 630680330394
Option 11D : 6306801285248
Option 2 ID : 6306801285245
Option 3 1D : 6306801285246
Option 4 1D : 6306801285247
Status : Answered
Chosen Option : 4
Marks : 2




Q.16 Treiiet reern faeeareff 2reg eftear.

e
Ans 1 SFERE
< 2. sfterd
X 3. sfigar
X 4. s
Question Type : MCQ
Question ID : 630680330402
Option 1 ID : 6306801285277
Option 2 ID : 6306801285278
Option 31D : 6306801285280
Option 41D : 6306801285279
Status : Answered
Chosen Option : 1
Marks : 2
Q.17 Gl IgRaTaeh arear fRAarrff arema Euiar das gl faue sisar.
foreft Ham omg fo arar!
Ans o 1. T 18R U e .
X 2. TR et @R o 1R YR sl
X 3. gax 311 o ford 1eRe
X 4. fraaRE geR 9ER ae.
Question Type : MCQ
Question ID : 630680330392
Option 11D : 6306801285237
Option 21D : 6306801285239
Option 31D : 6306801285238
Option 4 ID : 6306801285240
Status : Answered
Chosen Option : 1
Marks : 2
Q.18 @refieT gehRTYT arerIma FehRTeAT arerTd TUiaR sl atvg faem= siier.
AT g9k R,
Ans X 1. TRl §oR 38T TREoR g .
X 2. urfRel gor Aaefier R RgeR U i gidd.
o 3. Tl TRESR g .
X 4. TRl §oR AT TResR orefY Fig wmeft.
Question Type : MCQ
Question ID : 630680330393
Option 11D : 6306801285244
Option 2 ID : 6306801285241
Option 31D : 6306801285243
Option 4 ID : 6306801285242
Status : Answered
Chosen Option: 3
Marks : 2




Q.19 TETefiet reern fareeareff 2reg eftear.

ke
Ans X 1.ReR
o 2. QTR
X 3. RRerer
X 4 "R
Question Type : MCQ
Question ID : 630680330401
Option 1 ID : 6306801285275
Option 2 ID : 6306801285274
Option 31D : 6306801285273
Option 4 ID : 6306801285276
Status : Answered
Chosen Option : 2
Marks : 2
Q.20 Erefiet eregTaT FHFTAT 2reg siiear.
fAufz
Ans X 1.fde
X 2=
o 3. P
X 4. fRarer
Question Type : MCQ
Question ID : 630680330400
Option 11D : 6306801285271
Option 2 ID : 6306801285270
Option 31D : 6306801285272
Option 4 ID : 6306801285269
Status : Answered
Chosen Option: 3
Marks : 2
Q.21 'therer 8ot ar reETATaT aTaRTd IUTNT IS Wietlerdd It faer eitear.
Ans X 1. YRa favaaue Sierearar fehdhe Ol Rl fohdhe Tome thetmar ga.
X 2. 3SR chelel! QRIS @1gA Y o Sigen oo drdl theflar Bdel.
W 3. Rl Jobea waldd s quf et AT UTTATHT HTEATURiAT helTaR Ber.
X 4. g gezraroft e ddens =i gom=aT STorel SfeexiHl tharer 9.
Question Type : MCQ
Question ID : 630680330410
Option 11D : 6306801285309
Option 21D : 6306801285310
Option 31D : 6306801285311
Option 4 ID : 6306801285312
Status : Answered
Chosen Option: 3
Marks : 2




Q.22 '=gfeh nfor aeeit’ @ qedeh shivil fordier?
Ans X 1. faymg aréla

o 2. 201

X 3. fRyarsht grda

75 4.1 9. FER

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330415
6306801285332
6306801285330
6306801285329
6306801285331
Answered

2

2

Q.23 WErefieT AT 31 givm.

g

Ans X 1.7
o 2.2
X 3.mg
K 4.TR

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330395
6306801285252
6306801285250
6306801285249
6306801285251
Answered

2

2

Q.24 @refter wgofin alvg sref sitesar.
T8 af a1 Y.
Ans X 1. g MeEardl @ereu o,
75 2. STTCH R Sheed GrEdiH, ST 1o,

W 3. T HIUH SRIER G TTTSTaal.
< 4. SaTaT HSYUER GEd AGUTRT Her .

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330407
6306801285298
6306801285300
6306801285297
6306801285299
Answered

3

2




Q.25 "Gl AT GATH UTehaeSt 40} IT rSETATET ATt IUTNT Teet Wiefierdehl alvg faur sitean.

Ans

X 2. JSHES ST ASTSTETA THATSTT Get AT FeATd! UTehas! feft.

25 1. e AT G UTehad! & TAehIeaT ATRITST IFRTETT ShofehTg 7 UeUTRT HATHIST g7 o,

25 3. WRYTT AT AT ATAavaTa B ST IehM ST Sid TG SHT0eal Sard He AT

AT UTeRed! e,
W 4. SO SIS Uiglr GRES! S et AT GefTet UTehod! forett.

Question Type : MCQ
Question ID : 630680330411
Option 11D : 6306801285315
Option 2 1D : 6306801285316
Option 31D : 6306801285313
Option 4 1D : 6306801285314
Status : Answered
Chosen Option : 4
Marks : 2
Section : English Language
Q.1 Select the most appropriate meaning of the given idiom.
Go under the knife
Ans X 1.To be in a dangerous situation
#5 2. To be held hostage
/5 3.To be stabbed
%" 4. To have a surgery
Question Type : MCQ
Question ID : 630680277589
Option 11D : 6306801078787
Option 2 1D : 6306801078788
Option 31D : 6306801078786
Option 4 1D : 6306801078785
Status : Answered
Chosen Option : 1
Marks : 0
Q.2 Select the option that expresses the given sentence in passive voice.
Manish hit the monkey with a stone.
Ans X 1. The monkey hit Manish with a stone.
25 2. Manish has been hitting the monkey with a stone.
#< 3. Manish had hit with a stone the monkey.
o 4. The monkey was hit with a stone by Manish.
Question Type : MCQ
Question ID : 630680279570
Option 11D : 6306801086544
Option 2 ID : 6306801086545
Option 31D : 6306801086546
Option 4 1D : 6306801086543
Status : Answered
Chosen Option : 4
Marks : 2




Q.3 Parts of the following sentence have been underlined and given as options. Select the

option that contains an error.

| will give Samantha the packet. | will give her when | see her tomorrow or else | will ask

Philip to taking it from me and give it to her.
Ans X 1.1 will ask Philip

X 2.1see her
o 3. Taking it from me
X 4. Will give
Question Type : MCQ
Question ID : 630680270796
Option 11D : 6306801052372
Option 2 ID : 6306801052371
Option 31D : 6306801052373
Option 4 1D : 6306801052370
Status : Answered
Chosen Option: 3
Marks : 2
Q.4 Select the most appropriate article to fill in the blank. If no article is required, select ‘No
article’.
Her teachings were eye-opener for all the students.
Ans 1. an
X 2. No article
X 3.a
X 4. the
Question Type : MCQ
Question ID : 630680274275
Option 11D : 6306801065612
Option 2 ID : 6306801065614
Option 31D : 6306801065611
Option 4 ID : 6306801065613
Status : Answered
Chosen Option : 1
Marks : 2
Q.5 Select the most appropriate verb to fill in the blank.
He will pick up the papers once you evaluating them.
Ans X 1. will finish
Z5 2. will be finishing
/X 3. had finished
W 4 finish
Question Type : MCQ
Question ID : 630680277586
Option 11D : 6306801078773
Option 2 1D : 6306801078776
Option 31D : 6306801078775
Option 4 ID : 6306801078774
Status : Answered
Chosen Option : 4
Marks : 2




Q.6 The given sentence is missing punctuation marks. Choose the correctly punctuated

sentence from the following options.

low moisture Mozzarella can have a longer shelf life stronger flavours and easier melting
while fresh creamy variants must be consumed within the first couple of days of production

Ans 4 1. Low-moisture Mozzarella can have a longer shelf life, stronger flavours and easier
melting, while fresh creamy variants must be consumed within the first couple of days of

production.

/X 2. Low moisture Mozzarella can have a longer shelf life, stronger flavours, and easier
melting while fresh creamy variants, must be consumed within the first couple of days of

production.

/5 3. Low moisture, Mozzarella, can have a longer shelf life, stronger flavours and easier
melting, while fresh creamy variants must be consumed, within the first couple of days of

production.

25 4. Low-moisture Mozzarella can have a longer shelf life, stronger flavours and easier
melting, while fresh creamy variants must be consumed, within the first couple of days of

production.

Question Type :
: 630680280569
: 6306801090513
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Marks :

Question ID
Option 1 ID

McQ

6306801090514
6306801090512
6306801090511
Answered

1

2

Q.7 Select the most appropriate meaning of the given idiom.

To get a toehold
Ans X 1.To get stuck in a difficult situation.

" 2. To obtain a stable position from which one can progress in a particular industry or

area.
75 3. To get promoted through hard work.

/5 4. To get in control difficult situations easily.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680274304
6306801065729
6306801065727
6306801065730
6306801065728
Answered

1

0




Q.8 Select the most appropriate question tag to fill in the blank.

Somebody told you about the incident, ?
Ans X 1.don'tthey

/< 2. haven't they
o 3. didn't they
X 4. doesn't they

Question Type : MCQ
Question ID : 630680270755
Option 11D : 6306801052206
Option 2 ID : 6306801052209
Option 31D : 6306801052208
Option 4 ID : 6306801052207
Status : Answered
Chosen Option: 3
Marks : 2

Q.9 The given sentence has an error. Select the option that correctly rectifies the error.
| am going at 24t of July.
Ans X 1.in 24 of July
o 2. 0n 24t of July
< 3. went

X 4.gone

Question Type : MCQ
Question ID : 630680274298
Option 11D : 6306801065705
Option 2 1D : 6306801065706
Option 31D : 6306801065704
Option 4 1D : 6306801065703
Status : Answered
Chosen Option : 2
Marks : 2

Q.10 Part of the given sentence that has been underlined contains an error. Select the option that
rectifies the error.
| shall have went to bed by the time Manish gets back.

Ans X 1.shallgo
/5 2. shall went
/< 3. shall had gone
o 4. shall have gone

Question Type : MCQ
Question ID : 630680279415
Option 11D : 6306801085929
Option 2 ID : 6306801085930
Option 31D : 6306801085927
Option 4 ID : 6306801085928
Status : Answered
Chosen Option : 4
Marks : 2




Q.11 Two words are underlined, one of them is incorrect. Identify the correct spelling of the

incorrect word from the options.

The inconvenice caused by the construction work in the neighbourhood is a lot

Ans X 1. Neighborhud
< 2. Inconvenance
% 3. Inconvenience

5 4. Nieghbourhood

Question Type :
Question ID
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ

1 630680270814

6306801052444
6306801052442
6306801052443
6306801052445
Answered

3

2

Q.12 Select the most appropriate option to fill in the blank.
You___ have not wasted any time.

Ans X 1.ascertain
5 2. certainty

o 3. certainly
5 4. certain

Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID

Status :

Chosen Option :

Marks :

MCQ
630680280724
6306801091134

: 6306801091131
1 6306801091132
1 6306801091133

Answered
3
2

Q.13 Select the most appropriate synonym of the underlined word.

He made an endeavour to learn a new language.
Ans X 1.neglect

X 2. quit
< 3. halt

o 4. attempt

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status

Chosen Option :

Marks :

McQ
630680277943
6306801080132
6306801080129
6306801080130
6306801080131

: Answered

4
2




Q.14 In the following sentence, one of the four underlined words is incorrectly spelt. Identify the

INCORRECTLY spelt word.

The restaurant's excellent maintenance and convinient location make it a popular

destination for diners.
Ans X 1.destination

f 2. convinient
25 3.restaurant's

X 4. maintenance

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252112
630680978430
630680978429
630680978427
630680978428
Answered

2

2

Q.15 Select the most appropriate punctuation mark to fill in the blank.
Could you please pass me the salt

Ans 4 1. Question mark (?)
< 2.Colon ()
25 3. Exclamation mark (1)
X 4. Period ()

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

. Answered

Chosen Option :

Marks :

Status

McQ
630680279138
6306801084829
6306801084831
6306801084830
6306801084832

1
2

Q.16 Select the option that expresses the given sentence in passive voice.

Someone scattered flowers on the floor.
Ans 4 1. The floor is scattered with flowers.

#< 2. The floor is scattered with the flowers.
/< 3. The floor has been scattered with flowers.

75 4. The floor is being scattered with flowers.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680277579
6306801078745
6306801078746
6306801078747
6306801078748
Answered

1

2




Q.17 Select the most appropriate synonym of the given word.

Insolent
Ans " 1. Impertinent
X 2. Saint
< 3. Humble
X 4. 1dol
Question Type : MCQ
Question ID : 630680274324
Option 11D : 6306801065807
Option 2 ID : 6306801065809
Option 31D : 6306801065808
Option 4 1D : 6306801065810
Status : Answered
Chosen Option : 1
Marks : 2
Q.18 Select the most appropriate synonym of the given word.
Scared
Ans 4 1. Petrified
/5 2. Confident
/< 3. Intrepid
< 4. Compose
Question Type : MCQ
Question ID : 630680274319
Option 11D : 6306801065787
Option 2 ID : 6306801065788
Option 31D : 6306801065790
Option 4 ID : 6306801065789
Status : Answered
Chosen Option : 1
Marks : 2
Q.19 Select the most appropriate option to fill in the blank.
He should be terminated from the job for his remarks about his superiors.
Ans X 1.analytical
o 2. abusive
/X 3. obsolete
75 4. complimentary
Question Type : MCQ
Question ID : 630680274291
Option 11D : 6306801065678
Option 2 1D : 6306801065677
Option 31D : 6306801065676
Option 4 ID : 6306801065675
Status : Answered
Chosen Option : 2
Marks : 2




Q.20 Parts of the given sentence have been underlined. One of them contains an error. The

underlined parts are given as options with some changes. Select the option that correctly

rectifies the error.

The professor, along with her colleagues, are conducting groundbreaking research in the

field.
< 1. apart from

X 2.into
X 3.afield

Ans

% 4.is conducting

Question Type :
Question ID :
1630680978403
Option2 D :
Option 31D :
Option 4 1D :
Status:

Chosen Option :
Marks :

Option 11D

McCQ
630680252106

630680978405
630680978406
630680978404
Answered

4

2

Q.21 Select the most appropriate meaning of the given idiom.

On pins and needles

Ans " 1.In a state of anxiety and tension
X 2.1n a state of calmness and silence
25 3. In a state of harmony and happiness

#< 4.1In a state of dullness and stillness

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680274288
6306801065664
6306801065665
6306801065663
6306801065666
Answered

1

2




Q.22 Select the most appropriate option to fill in the blank.

He was falsely accused
had to prove his innocence in court.

stealing confidential information from the company and

Ans X 1.with
o 2. of
X 3. for
X 4. at
Question Type : MCQ
Question ID : 630680252101
Option 11D : 630680978385
Option 2 ID : 630680978384
Option 31D : 630680978383
Option 4 1D : 630680978386
Status : Answered
Chosen Option : 2
Marks : 2
Q.23 Select the most appropriate question tag to fill in the blank.
Mr. Ram Gopal Sharma never talks politely with his subordinates,
Ans X 1.dohe
75 2.don't he
< 3. doesn't he
w# 4. does he
Question Type : MCQ
Question ID : 630680274257
Option 11D : 6306801065541
Option 2 ID : 6306801065542
Option 31D : 6306801065540
Option 4 1D : 6306801065539
Status : Answered
Chosen Option : 4
Marks : 2
Q.24 Select the option that rectifies the error in the given sentence.
| were dancing every day when | was in school.
Ans " 1.1 danced every day when | was in school.
X 2.1 have been dancing every day when | was in school.
#< 3.1 was dancing every day when | was in school.
/5 4.1had danced every day when | was in school.
Question Type : MCQ
Question ID : 630680252121
Option 11D : 630680978465
Option 2 ID : 630680978466
Option 31D : 630680978463
Option 4 ID : 630680978464
Status : Answered
Chosen Option : 1
Marks : 2




Q.25 Select the most appropriate word to fill in the blank. If no word is required, select ‘No word

required’.
Please tune into FM radio channel
Ans 1. an
/< 2.some
X 3.a
X 4. No word required
Question Type : MCQ
Question ID : 630680277587
Option 11D : 6306801078778
Option 2 ID : 6306801078779
Option 31D : 6306801078777
Option 41D : 6306801078780
Status : Answered
Chosen Option : 1
Marks : 2
Section : General Knowledge
Q.1 w@refierd<ht stor, g mfgedt smgeh onfor sar mfgeht smghi=h Pas w=om=ar afada smfae
HATd?
i: YRAT Yaue=
ii: Hatea -araTerars gE =amefiar.
iii: FRaAefier RARIef gera.
iv : dauerri AERE R Feer T g dfeae w@sit
Ans o 1. iii aforiv
25200, 9 ol iv
2 3., iii, 3nforiv
X4, iie oY i
Question Type : MCQ
Question ID : 630680275201
Option 1 ID : 6306801069317
Option 2 ID : 6306801069316
Option 31D : 6306801069318
Option 4 ID : 6306801069315
Status : Answered
Chosen Option : 1
Marks : 2




Q.2 YURE drde g @ieileTteh! ShIUTT Udazii=ar uffHee 3me?
Ans X 1.91dgs

Wi 2. IRl
< 3. ufgmare
X 4. gdEre
Question Type : MCQ
Question ID : 630680275767
Option 11D : 6306801071582
Option 2 ID : 6306801071579
Option 31D : 6306801071580
Option 4 1D : 6306801071581
Status : Answered
Chosen Option : 2
Marks : 2
Q.3 fehve g1 o e gewsiig smg?
Ans X 1. Sfamog
w¥ 2. Bash
X 3. gt
75 4. fumog
Question Type : MCQ
Question ID : 630680270003
Option 11D : 6306801049265
Option 2 ID : 6306801049266
Option 31D : 6306801049263
Option 4 ID : 6306801049264
Status : Answered
Chosen Option : 2
Marks : 2
Q.4 1919 A AT FIET HSX AT, AgT WictleTdehl 0T HRATS FTSERIT gia?
Ans o 1.71S WIS
5 2. gE S giten
X 3. gauars i
X 4. aré RS
Question Type : MCQ
Question ID : 630680275700
Option 11D : 6306801071313
Option 2 ID : 6306801071312
Option 31D : 6306801071311
Option 4 1D : 6306801071314
Status : Answered
Chosen Option: 1
Marks : 2




Q.5 S« 2022 Aed, Wrefierdhl HIvTeaT AGTA WRAT ufget §-3% gepl urdh IWRA?
Ans o 1. el

X 2. idAdEr

X 3. e

X 4 i

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680269912
6306801048899
6306801048901
6306801048902
6306801048900
Answered

3

0

Q.6

A, YT ALY TR FGUH WRATAT Qa Tad -1 SAig-T Svara ufNeror var=n

IE 2 IMOT T "eTeHes AR YR sTHd=ar Al fgaran 1R Ruaaré) 'R s

TSI TATYAT ShRUGTd SATeAT giel.
Ans X 1.1917
X 2.1900

o 3. 1905
X 4.1885

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275705
6306801071334
6306801071332
6306801071333
6306801071331
Answered

3

2

Q.7 @reAiedhl wivrdt ag gesvlt sma?
Ans X 1. herEds O TRART STE] TSt
W 2. CTTE & : AT FETST
X 3. Ay iRk : enfe sTen IS
X 4. AgTe SOifeT Goot : HaRMeeh THTST

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680287117
6306801116375
6306801116377
6306801116376
6306801116378
Answered

4

0




Q.8 UM 2023 7ed, ‘qATY A1’ Siaes fRARGE . ATY AT Wiefierd<hl hivrear WRd TsaTa md?

Ans

X 1. SREs

25 2. U T_ST

X 3. fEnmae uewr
o 4. R
Question Type : MCQ
Question ID : 630680275424
Option 11D : 6306801070209
Option 2 1D : 6306801070210
Option 3 ID : 6306801070207
Option 4 ID : 6306801070208
Status : Answered
Chosen Option : 1
Marks : 0
Q.9 =arf 2023 wed U™, gRamom A% wififer enfor wfNeror v (DoPT) smaifSia dhetear G20
=1 ufgean YerR ARt frfe dadhi= (ACWG) IgTed @refierdh wivft het?
Ans X 1.k~ g
X 2. hemer ey
o 3. 31 Rz Rie
X 4. Uuet HAR URY
Question Type : MCQ
Question ID : 630680269939
Option 11D : 6306801049010
Option 2 ID : 6306801049008
Option 3 ID : 6306801049007
Option 4 ID : 6306801049009
Status : Answered
Chosen Option: 3
Marks : 2
Q.10 GRS TedT ___ VLA ftaa@a o1
Ans X 1.9wrEs
X 2.+
X 3.7t
W 4. TR
Question Type : MCQ
Question ID : 630680269999
Option 1 1D : 6306801049249
Option 2 ID : 6306801049247
Option 3 ID : 6306801049250
Option 4 ID : 6306801049248
Status : Answered
Chosen Option: 3
Marks : 0




Q.11
Ans

X 1.1918
X 2.1916
W 3.1920

X 4.1914

#ed Sif@e WRdla ¢ gfa= sidwst Taroen et

\

Question Type :
Question ID :

Option 11D

Option 3 ID
Option 4 ID

McCQ
630680275687

: 6306801071261
Option 21D :

6306801071260

: 6306801071262
: 6306801071259
Status:
Chosen Option :
Marks :

Answered
3
2

Q.12 1884 #ed YudTd oIies TMtR Re5eh aiearig Wietietdehl vl SarepT gogehee HRIEL T

Ans

Felt?
X 1. Fergdg 99
25 2. TS et et
3. 7TIUTOS TOIRT SRR
X 4. Z1erE ARSH

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275681
6306801071236
6306801071235
6306801071237
6306801071238
Answered

3

2

Q.13 YTMER IGUITHIS) STk ANTReR HTTOT ATfgi= urResferdr sraarasyaer g, 3/ RTI
A aHT=aT SivraT YRTHS ged A emg?

Ans

X 1. %eH 3
X 2. FeaH 1
K 3. R 2
w 4. RTI STt vearer

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275193
6306801069285
6306801069283
6306801069284
6306801069286
Answered

4

2




Q.14 ot $-Tregi=a Qar € a=hiT i graiean fohar TR T arEaié o ua
(gFordhe) Mavary fhar a1 STt SHRUaTEmd) o1t ehevaTe Term ha?

X 1. e e
X 2. $gifea
W 3. TETE gar
X 4.3 sRer

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680276516
6306801074562
6306801074559
6306801074560
6306801074561
Answered

3

2

Q.15 fA=argh yifersft eaagrT=n (friendly policing) @aTdeh Heheusid AfgeiaTs! quigul gR&y snfor

gAY arararor v arvareT ¥t ATEg 3% ‘SHE &7 g% hRudTd STTe.
Ans X 1. e
X 2. 4ad
/X 3. idAdEar
o 4 EEEI
Question Type : MCQ
Question ID : 630680275484
Option 11D : 6306801070447
Option 2 ID : 6306801070449
Option 3 ID : 6306801070448
Option 4 ID : 6306801070450
Status : Answered
Chosen Option : 1
Marks : 0

Q.16 Fareh TefRmior Ted=ar G sHaT=ai=T FHIoTe A Sdad AT aa?

Tefmior dedar uReR Tas Fea ST aTT, ToRH 3R edaraiT "fafre wwmi dte Aadta s

10T heara” sieft Rragoft et
25 1. =0T T&T0T ST SATTOT AFHAT Ot
X 2. T iepfaeh aRET 31IfOY TeepelIa TReror
X 3. 3er aresf STt SifoY i uTe st

o 4. ST SATTOT T YTl HTee HicaTg <ot

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680281047
6306801092424
6306801092423
6306801092426
6306801092425
Answered

4

2




Q.17 @refierdh Hv R Hiremr= afdrea A

Ans

X 1. AR GOERT Wy

X 2. @da A

o 3. TSTIETST T IsTET
X 4. Uehet AR

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

: Answered

Chosen Option :

Marks :

Status

McCQ
630680269972
6306801049140
6306801049142
6306801049141
6306801049139

3
2

Q.18 TFAIR=H dex-ieFe SR SheledT 2022 =0T YETAR YR AE2iehmied WRd ____ shilichTaR 3118,

Ans

o 1852
X 2.82@m
X 3.84am
X 4.83an

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Marks :

Status

McCQ
630680275446
6306801070298
6306801070295
6306801070297
6306801070296

3
0

Q.19 3feTeh-ar for urfiReft Teriear TS WRdT o v T4 fRfor ga?

Ans

75 1. W
5 2. MerEst
X 3.7

o 4.7

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680268947
6306801045096
6306801045095
6306801045098
6306801045097
Answered

4

2




Q.20 JgHSI TH. AeeTal @ A A uR2ft GHISY RS A9 STTaTe.
Ans o 1193 e

X 2.18 ¥ @w
X 3.203 e
X 4.21 3 waw

Question Type : MCQ
Question ID : 630680275160
Option 11D : 6306801069152
Option 2 1D : 6306801069151
Option 31D : 6306801069153
Option 4 ID : 6306801069154
Status : Answered
Chosen Option : 1
Marks : 2

Q.21 gt 2023 Aed @refierdh wivren R fhdreugen Aot fohdhe aetar (MCC), die=t ara
A, ATSiia &R TgTel ThRodrd 3MTet?

Ans o 1. TgaliE it Mo garrsT
X 2. agefig e snfor gerer Rig
X 3. AgefiE wt onfor dig gam
X 4. gawrst Rig onfor didg dgant

Question Type : MCQ
Question ID : 630680269901
Option 11D : 6306801048855
Option 2 ID : 6306801048856
Option 31D : 6306801048857
Option 4 ID : 6306801048858
Status : Answered
Chosen Option : 2
Marks : 0

Q.22 hiF 3T € (Cream of tartar) g TTHUTRERTA 31-ch UehR IUYH 3118. ThiH it eréza
AT YA HE HR?

Ans 1. HOOC-CH(OH)-CH(OH)COO™

7 2. *K-00C-CH(OH)-CH(OH)COOK*
7 3. HOOC-CH(OH)COOK*
7 4. HOOC-CH(OH)-CH(OH)COOH

Question Type : MCQ
Question ID : 630680270024
Option 11D : 6306801049348
Option 2 ID : 6306801049349
Option 31D : 6306801049350
Option 4 ID : 6306801049347
Status : Answered
Chosen Option : 1
Marks : 2




Q.23 YRd WEHRA ‘AT WieH s (e 2 e whw)’ St adff sy deft gidi?

Ans X 1.1993
< 2.1991
o 3.1995
X 4.1997
Question Type : MCQ
Question ID : 630680275804
Option 11D : 6306801071728
Option 2 ID : 6306801071727
Option 31D : 6306801071729
Option 4 1D : 6306801071730
Status : Answered
Chosen Option : 1
Marks : 0
Q.24 Gl R SaRTET T Jgerd YRATd 3Mg?
Ans X 1.fse (BRICS) &%
o 2. ATRAET TR Zelt
X 3. arfrrs faemg s
X 4. e fare da
Question Type : MCQ
Question ID : 630680276546
Option 11D : 6306801074680
Option 2 1D : 6306801074681
Option 31D : 6306801074679
Option 4 1D : 6306801074682
Status : Answered
Chosen Option : 2
Marks : 2

TaTfaE Frvarh RAIGRY deft
* SR CIUNEEEIER)

X 2. AR gt

X 3. gorda g afedt

X 4. I wiEd

Ans

Q.25 @refterdehl shivrear AfAa, WRedT TfaumEra, s AR geea sdeiar g Tdia v

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680269977
6306801049160
6306801049159
6306801049161
6306801049162
Answered

1

2

Section : General Intelligence




Q.1 IUTFAHR, Wi IR JHeR-Tygiad i s1eR-Tqg Yt RAfAE uaR a0 g oy sram

=81 Uk T dUR ard. &1 merRft & aaeen vafa fRaer.

Ans X 1.DHF
¥ 2. FJI
< 3.KOM
X 4. IMK
Question Type : MCQ
Question ID : 630680273878
Option 11D : 6306801064031
Option 2 ID : 6306801064032
Option 31D : 6306801064034
Option 4 ID : 6306801064033
Status : Answered
Chosen Option : 2
Marks : 2
Q.2 ST UshR R Tardie s1eR-Tig Hefdd ad, <rd UehRR el 318R-Tg e 99
fAereT.
EH-DF-IL
Ans X 1.KN-JK-0Q
q,f 2.KN-JL-OR
X 3.KM-JK-OR
< 4.KN-JL-0Q
Question Type : MCQ
Question ID : 630680257449
Option 11D : 630680999701
Option 2 ID : 630680999700
Option 3 1D : 630680999699
Option 4 ID : 630680999702
Status : Answered
Chosen Option : 2
Marks : 2




Q.3 1§} foeaT eRTITgA 5 km SiaRTeR etedn fa=n siffthased arerd o, g siaR ot Teprest 1
AT TUd, aR eATehted! Bt wRadarT, fadada siar srauarard faer 15 fafa s amrara. ar

eIt TaTHTERFEITET foaar SRS 3 (km/h #ed) 2nte.

Ans 3 3
1. 8%
X 5
i ]
2. 3—
X 8
2
X 3 4=
3
4
4. 94—
v 9
Question Type : MCQ
Question ID : 630680279353
Option 11D : 6306801085682
Option 2 1D : 6306801085681
Option 31D : 6306801085680
Option 4 ID : 6306801085679
Status : Answered
Chosen Option : 4
Marks : 2
Q.4 T FR 50 km/h AT FH-UTHI2T SiaR hrd« 10T ISR 3iax 60 km/h M= shraa. wgof
YT hRET SRS A fohet emg?
Ans 7
X 54; kmv/h
5
- 55; km/h
2
X3 5?; km/h
g
< 4 56; km/h
Question Type : MCQ
Question ID : 630680277216
Option 11D : 6306801077340
Option 2 1D : 6306801077339
Option 3 1D : 6306801077337
Option 4 ID : 6306801077338
Status : Answered
Chosen Option : 1
Marks : 0




Q.5 Tshdle AT Teh Iahd 3 quid Ta:=a1 fawe gid. arfitfer snerRoft=ar aradid, ft @ = 9 ue

goarard foret adf amTefier?
Ans X 1.12
w26
X 3.8
X 4.9
Question Type : MCQ
Question ID : 630680277352
Option 11D : 6306801077857
Option 21D : 6306801077859
Option 31D : 6306801077860
Option 4 ID : 6306801077858
Status : Answered
Chosen Option : 1
Marks : 0
Q.6 Reear sjEewsd usiRgrea (?) Swft & siet Tifgst?
53, 53, 40, 40, 27,27, ?
Ans X 1.27
X 2.12
< 3.53
w414
Question Type : MCQ
Question ID : 630680272821
Option 1 ID : 6306801059845
Option 2 ID : 6306801059843
Option 3 ID : 6306801059844
Option 4 1D : 6306801059846
Status : Answered
Chosen Option : 4
Marks : 2
Q.7 S 3 fRawia e Arer<t T a-q 2reral nfor e g1 ofier it 4 Rawria s=q erehdt. SR«
ez M e, TR AT ThRAT 14 AT TR HROGTS fhelt feaw amredter?
Ans 1. 24 feag
X 2.18 feaw
X 3.20 fgw
X 416 feag
Question Type : MCQ
Question ID : 630680279399
Option 11D : 6306801085866
Option 2 ID : 6306801085864
Option 3 ID : 6306801085865
Option 4 ID : 6306801085863
Status : Answered
Chosen Option : 1
Marks : 2




Q.8 TSI JUIHTATERATER TR, Reear arferehd usifRgr=ar (?) SInft /i e wifds?

Ans

SCZ, TDB, UED, VFF, ?
X 1.VFG

X 2. WFH
W 3. WGH
X 4.VEG

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680271353
6306801054485
6306801054487
6306801054484
6306801054486
Answered

3

2

Q.9 Ul hfAshedrehs ae TS g TRl T5aiedT gei-d 2.56 kg 3 SR 3114, SR

Ans

reTehe 39 kg HRES TR, AR T aoi- e,

% 1.36.330 kg
X 2.36.640 kg
% 3.36.540 kg
o 4.36.440 kg

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680277191
6306801077240
6306801077237
6306801077238
6306801077239
Answered

4

2

Q.10 Trav=a fFaedta 20% i Fura heam &R 2160 fhadine 2.5 kg SR AR A 2red.

Ans

R ufa kg STt a5 fhae 2ntem.
X 1.%15
X 2.320
X 3.312

W 4.316

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680277329
6306801077766
6306801077768
6306801077765
6306801077767
Answered

4

2




Q.11 RS R enfor fAserd srresshigde aran. Rrumidie migd ammae: wa awiden dreht

Ans

3MTeesett adl, T o, o TEd uReA fRideuiadd wturan/a ey Retear fRremrish adma
TR/ A S,

faem:

HIUTATE} ST T shal= ATgl.

HIVTATE) TS BT AT .

forsen:

U)aﬂéianﬁawétnéﬂianmwnﬁhaﬁnﬁnam%.
(II) RIoTaTE hal=T 8T hTE ATEL.
X 1. Fae e (1) aehea MR

o 2. Fsemd (1) anfor (11) St deheia smmea.
25 3. forsendf (1) fRar (11) BhT geng! JehdiTd el
X 4. Faw sy (1) adhETd e

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680276944
6306801076270
6306801076272
6306801076271
6306801076269
Answered

4

0

Q.12 31&R Ifor Regiean @relier Arferdhar dg+ = nfor wema 3R . Ateoft Fae sdiega

Ans

IS RS rreaT SR
(SA)MBSR&ZD%AF&@SY #G C*0+E (3I5)

SR ATfehg 9 R T, @R @refierdd Siura 3Tt SfepTurgH Fad 3r&e?
X 1.R

X 2.A

X 3.D

Wiz

Question ID
Option 1 ID
Option 2 ID

Question Type :
: 630680257427
: 630680999612
: 630680999614
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

McQ

630680999613
630680999611
Answered

1

0




Q.13 3IfeR-UHg=T IR siisar Raean smgd widdl fi= fRAfde vaR s siga onfor ge anest ong.

SMeR-THgTHt ISt sreete Sl fAaet.
Ans X 1.MP-RU
X 2.RU-WZ
X 3.QT-VY
..,f 4.NQ - RU
Question Type : MCQ
Question ID : 630680272812
Option 11D : 6306801059807
Option 2 1D : 6306801059810
Option 31D : 6306801059809
Option 4 1D : 6306801059808
Status : Answered
Chosen Option : 4
Marks : 2
Q.14 ufar af 16% =arore™ 3 Fufa ¥480 TwHaR AUT=aT TRTeTH T fahdt erder?
Ans " 1.%1,000
X 2.%600
/< 3.%1,200
X 4.3800
Question Type : MCQ
Question ID : 630680277334
Option 11D : 6306801077787
Option 2 1D : 6306801077785
Option 31D : 6306801077788
Option 4 1D : 6306801077786
Status : Answered
Chosen Option : 1
Marks : 2
Q.15 SR ‘A gUISt '+, ‘B’ gUTSt '+, ‘C’ TgUTSt ‘%’ AIf0Y ‘D’ Fgurst '~ 3@, aR Wiefiel GHieRiona
usifgrean (?) snft srg ada?
4C5D66B11A3="?
Ans X 1.15
X 2.19
" 3.17
X 4.10
Question Type : MCQ
Question ID : 630680271191
Option 11D : 6306801053837
Option 2 1D : 6306801053839
Option 31D : 6306801053838
Option 4 1D : 6306801053836
Status : Answered
Chosen Option: 3
Marks : 2




Q.16 QehT TR ZUTY 2:30 TSI Geh R AR AT i 60 km/h 3R Treraett. € 29 gurt 3 arsran
ITSHIT AT STTOY ATeIeh gH=aT HRAYA 75 km/h T+ aT=T UTSEART hed FRremer. @ aRer

weft geRSer?
Ans X 1.gURT 4:30 arSTdr
X 2. 3Rl 5:15 arstdn
o 3. gUrt 5:00 ATSTaT
X 4. R 4:45 areran
Question Type : MCQ
Question ID : 630680279375
Option 11D : 6306801085767
Option 2 ID : 6306801085770
Option 31D : 6306801085769
Option 41D : 6306801085768
Status : Answered
Chosen Option: 3
Marks : 2
Q.17 SuehR Reen Sardie sieR-Tgg Hefdd Sigd, @™ UehR Hfdd s1eR-THg e 9d
fa=r.
PN-OR-TQ
Ans X 1.EG-HL-MJ
< 2. EG-HL-MI
" 3. EC-DG-IF
X 4. EG-HK-MI
Question Type : MCQ
Question ID : 630680276949
Option 11D : 6306801076291
Option 2 ID : 6306801076289
Option 3 ID : 6306801076292
Option 4 ID : 6306801076290
Status : Answered
Chosen Option: 3
Marks : 2




Q.18 Rah R enfor fAserd wargdes aran. fRummed R mifgeh € gt e awaideh
NSS! AT STEed, a3t df T o1Tg o1t [Eia e, e fAsepufaht st/ fFrend
Retear fRrur=isht adhdra amd/emdd & s
faem:

T ¥, e armed.

ahTe ¥, frerear e,
forser:

(1) T 211k, ¥ SR,
() Qeng) frere, ameh =gl

Ans X 1. %h R (1) 9T 31T

o 2. st (1) e (11) BehY gendt s e
2 3. teh e (1) 9T SR
X 4. frsend (1) 3nfor (1) & &gt T amea

Status
Chosen Option
Marks

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

McQ

630680256929
630680997627
630680997629
630680997628
630680997630

: Answered
12
12

Q.19 dHtsar

-{4-(5-2)}

Ans X 1.1
w2 -1
X 3.-2
X 42

Question ID
Option 1 ID
Option 2 ID

Question Type :
: 630680280396
: 6306801089823
: 6306801089824
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

McQ

6306801089826
6306801089825
Answered

2

2




Q.20 Uit quiaTATRATER snuREedT, Reear mifeha usiRgr=an (?) Srft & siret uifgst?
FVN, ITQ, LRT, OPW, ?
Ans " 1.RNZ
X 2.PNA
% 3.QMz
X 4.QMA

Question Type : MCQ
Question ID : 630680271354
Option 11D : 6306801054491
Option 2 ID : 6306801054489
Option 31D : 6306801054488
Option 4 ID : 6306801054490
Status : Answered
Chosen Option : 1
Marks : 2

Q.21

(183 x 183 X 183 — 73 X 73 x 73) %Wﬁm

(183 x 182 + 183 X 73 + 73 x 73)

Ans i 1.110
X 2.136
< 3.256
X 4.210

Question Type : MCQ
Question ID : 630680277179
Option 11D : 6306801077192
Option 2 1D : 6306801077190
Option 31D : 6306801077189
Option 4 ID : 6306801077191
Status : Answered
Chosen Option : 1
Marks : 2

Q.22 Select the number from among the given options that can replace the question mark (?) in
the following series.

29,30, 33, 42, 69, ?
Ans X 1.140
X 2.120

& 3.150
X 4.100

Question Type : MCQ
Question ID : 630680271183
Option 11D : 6306801053804
Option 2 1D : 6306801053807
Option 31D : 6306801053805
Option 4 ID : 6306801053806
Status : Answered
Chosen Option: 3
Marks : 2




Q.23 R aifedha gusht quferargar vsifRgren (?) smft 3% rpomRT sier-ayg R wafaiga
A=t

MHD, PLI, SPN, VTS, ?
Ans o 1. YXX

X 2.vvz
2 3.XYX
X 4.XYZ
Question Type : MCQ
Question ID : 630680273858
Option 11D : 6306801063951
Option 2 ID : 6306801063954
Option 31D : 6306801063953
Option 4 ID : 6306801063952
Status : Answered
Chosen Option : 1
Marks : 2
Q.24 A3 U 33w forena Saer onifor carean gewiarst 3110 @< dhat. e &= at 20% TH=
B <1 faehett, B & C 1 10% e faere, S1for C 7 10% Toam= 21,188 1 faehett. ar A 7 fohdt
IR ATt O fRewa g« glan?
Ans X 1.%850
< 2.3950
& 3.2890
X 4.3930
Question Type : MCQ
Question ID : 630680277327
Option 1 ID : 6306801077757
Option 2 ID : 6306801077760
Option 31D : 6306801077758
Option 41D : 6306801077759
Status : Answered
Chosen Option: 3
Marks : 2




Q.25 UTEY A 8T UehT Rerr SThietT Ta=Iuvt 15 11 9= 2Aehdl T0T UTS9 B &1 T rehiet 20
ATITd W= Aehal. d Teharqol hrdd rFarT o erehl fAnft swRuarars ciam e de amta?

A 102 TR
X2 9;‘:ﬁm
v 4-d

x 4 7§Eﬂ“ﬂ

Option 2 ID
Option 3 ID
Option 4 ID

Status

Question Type :
Question ID :
Option 11D :

: 6306801090492

: 6306801090493

: 6306801090494

. Answered

Chosen Option :

Marks :

McQ
630680280564
6306801090491

3
2




